

$$10y + x = 80 + 2$$

$$10y + x = 82$$

$$10y + x - 82 = 0$$

$$3 \quad y = \frac{x^3}{2} \quad (-1, -1/2)$$

$$\frac{dy}{dx} = \frac{3x^2}{2}$$

$$\text{at } x = -1 \Rightarrow \frac{3(-1)^2}{2}$$

$$m = \frac{3}{2}$$

at tangent

$$y - y_1 = m(x - x_1)$$

$$y - (-1/2) = \frac{3}{2}(x - (-1))$$

$$y + \frac{1}{2} = \frac{3}{2}(x + 1)$$

$$\frac{2y + 1}{2} = \frac{3x + 3}{2}$$

$$2(2y + 1) = 2(3x + 3)$$

$$4y + 2 = 6x + 3$$

$$4y - 6x = 3 - 2$$

$$4y - 6x = 1$$

$$4y - 6x - 1 = 0$$

for normal

$$y - y_1 = \frac{-1}{m}(x - x_1)$$

$$y - (-1/2) = \frac{-1}{3/2}(x - (-1))$$

$$y + 1/2 = \frac{-2}{3}(x + 1)$$

$$\frac{2y + 1}{2} = \frac{-2x - 2}{3}$$

$$3(2y + 1) = 2(-2x - 2)$$

$$6y + 3 = -4x - 4$$

$$6y + 4x = -3 - 4$$

$$6y + 4x = -7$$

$$6y + 4x + 7 = 0$$

$$6y + 4x + 7 = 0$$

$$\begin{aligned} & -2x^2 + x + 1 \\ & -2x + 1 \end{aligned}$$

$$4. \quad y = 1 + x - x^2 \quad (-2, -5)$$

$$\frac{dy}{dx} = 1 - 2x$$

$$\text{at } x = -2 \Rightarrow 1 - 2(-2)$$

$$= 1 - 4$$

$$m = -3$$

at tangent

$$y - y_1 = m(x - x_1)$$

$$y - (-5) = -3(x - (-2))$$

$$y + 5 = -3(x + 2)$$

$$y + 5 = -3x - 6$$

$$y + 3x = -5 - 6$$

$$y + 3x = -11$$

$$y + 3x + 11 = 0$$

at normal

$$y - y_1 = \frac{-1}{m}(x - x_1)$$

$$y - (-5) = \frac{-1}{-3}(x - (-2))$$

$$y + 5 = \frac{1}{3}(x + 2)$$

$$3(y + 5) = 1(x + 2)$$

$$3y + 15 = x + 2$$

$$3y - x = -15 + 2$$

$$3y - x = -13$$

$$3y - x + 13 = 0$$

$$5) \quad y = 1/x \quad (3, 1/3)$$

$$\frac{dy}{dx} = \frac{-1}{x^2}$$

$$\text{at } x = 3, \quad m = \frac{-1}{3^2} = \frac{-1}{9}$$

$$m = \frac{-1}{9}$$

at tangent

$$y - y_1 = m(x - x_1)$$

$$y - 1/3 = \frac{-1}{9}(x - 3)$$

$$\frac{3y - 1}{3} = \frac{-1}{9}(x - 3)$$

$$3y - 1 = \frac{-x + 3}{3}$$

$$9(3y - 1) = 3(-x + 3)$$

$$27y - 9 = -3x + 9$$

$$27y + 3x = 9 + 9$$

$$\frac{3y}{3} = \frac{1}{3}$$

$$27y + 9x = 18$$

$$27y + 9x - 18 = 0$$

at normal

$$y - y_1 = \frac{-1}{m} (x - x_1)$$

$$(y - \frac{1}{3}) = \frac{-1}{-1/9} (x - 3)$$

$$y - \frac{1}{3} = 9(x - 3)$$

$$\frac{3y - 1}{3} = 9x - 27$$

$$3y - 1 = 27x - 81$$

$$3y - 27x = 1 - 81$$

$$3y - 27x = -80$$

$$3y - 27x + 80 = 0$$

UTORAN RUKUNAN EMMAHUEL S/N: 44
19/11/2021/128

$$1) y = 2x^2$$
$$\frac{dy}{dx} = 4x$$

$$\frac{dy}{dx} \Big|_{x=1} = 4$$

$$m = 4$$

For tangent

$$y - y_1 = m(x - x_1)$$

$$y - 2 = 4(x - 1)$$

$$y - 2 = 4x - 4$$

$$y - 4x = 2 - 4$$

$$y - 4x = -2$$

$$y - 4x + 2 = 0$$

For normal

$$y - y_1 = \frac{-1}{m}(x - x_1)$$

$$y - 2 = \frac{-1}{4}(x - 1)$$

$$4y - 8 = -x + 1$$

$$4y + x = 8 + 1$$

$$4y + x = 9$$

$$4y + x - 9 = 0$$

$$2) y = 3x^2 - 2x \quad (2; 8)$$

$$\frac{dy}{dx} = 6x - 2$$

$$\frac{dy}{dx} \Big|_{x=2} = 6(2) - 2$$

$$m = 10$$

For tangent

$$y - y_1 = m(x - x_1)$$

$$y - 8 = 10(x - 2)$$

$$y - 8 = 10x - 20$$

$$y - 10x = 8 - 20$$

$$y - 10x = -12$$

$$y - 10x + 12 = 0$$

For normal

$$y - y_1 = \frac{-1}{m}(x - x_1)$$

$$y - 8 = \frac{-1}{10}(x - 2)$$

$$10y - 80 = -x + 2$$